Agroparts: www.HARDI-INTERNATIONAL .com

Page 0
PUMP - 462 W/MOUNTING BASE
A290-HIN, 08:11:11
Date 02.07.2013 12:49
75073800
*430404
*161172
*334312

*334310

-—— 334321 POLY (STD)
(242153 EPDM)
(242216VITON)

143577

=7

/‘v ? D
| L 280011
i ”:///4////7“ 210221
7 x':) S /

111183 /Z/’//’%///e
420917 —6F %,
210243 “
14010400 ——ge'®

\\
2414044’
614628 L

430286 210221

430437—

—210232

L161745
230016

L1 61745

L L21 0232
331192

WHITE

I—*72043700 @)
\

*330072

——210243

421083

L 111194 (1-1/2”)

111547 (27)

P

;OMPLETE ASSEMBLIES
WHOLEGOODS ITEMS

460703 COMPLETE PUMP

(NLA) REPLACED BY 821649 (463- 540 RPM)

A290




PUMP - 462 W/MOUNTING BASE

Agroparts: wvw.HARDI-INTERNATIONAL .com

A290-HIN, 08:11:11
Date

02.07.2013

12:49

order . .
arts-n° description
p qty p
111172 1| VALVE CHAMBER 460 (PAINTED)
111183 1|PUMP CASTING 460-463 (PAINTED)
111194 1| PUMP CASTING FT.460 (PAINTED)
111226 1] CONNECTING ROD MODEL 460
111547 1| PUMP CASTING 460-463-2"' (PAINT)
120024 1| DIAPHRAGM BACK DISC 1200-1300
143577 1| CRANK SHAFT F.363/462/463-10mm
147097 1| CRANK SHAFT 363-463/10 THROUGH
161172 1|DIAPHRAGM DISC F. 1203/1303
161745 1|METAL SPACER F.363/463
210221 1|BEARING BALL 6407
210232 1|BEARING BALL 6310
210243 1|SEAL OIL 35 X 47 X 7
230016 1|PLUG 1/8' BSP TYPE P
241404 1|DOWTYSEAL 1/4"
242153 1|O-RING D26X4 EPDM
242216 1|]O-RING VITON F/1202/1302/462
280011 1|GREASE NIPPLE 1/8' H TR
330072 1]O-RING D53w5/D45.5X4
331192 1| SPACER , MODEL 361/363
334310 1|NYLON WASHER 1202/1302/462
334312 1| PLASTIC SPACER ‘F/462
334321 1O-RING POLY. 34.0x26.0x%x4+0
420917 1|BOLT HEX 8.8 RAW M8X12 FT
421083 1|BOLT HEX 8.8 DEL M10X65
430286 1|BOLT HEX 8.8 DEL M12X30 FT
430323 1]|BOLT HEX 8.8 DEL,zM12X60
430404 1| BOLT HEX #8.8 DEL M12X50
430437 1)BOLT HEX 8.8 RAW M12X65
460703 1|NUT HEX M12X1.75 LOCK
614628 14 FOOT FOR PUMP 460-463 PAINTED
821649 1|PUMP»463/12/540 OFFSET PORTS
14010400 1|PLUG 1/4""BSP
33511500 1|DIAPHRAGM 462 PUR 2006
72043600 1|VALVE FOR 462/463
72043700 1|VALVE FOR 462/463 W.VENT HOLE
75073800 1|PUMP KIT 461/462 "06"




